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T 3397 ;
AEAfcTRad 3T i SATYeF qigU 3TN 71 UTer Hiford :
(i) SHIF-UAH 33T E | U I3 AHITH B |

(i) FE-TA Ta GUSI A AT 8 -G H, G, T, 9 TE & |

(iii) TV & — T G&IT 1 @ 16 TF FTglahedlq THR & T 8 | Tedeh T 1 S F 2 |

(lv) TUE @ — T G&I1 17 § 21 TF 3fd TY-ITNT JFR & T 8 | IAF T 2 e
HE |

(v)  @UE T ¥ GEIT 22 § 28 TF -3 TFR & J¥7 & | T 77 3 3ol 1 2 |

(vi) TUE T — G974 GC&IT 29 a9T 30 FH-3TNT 979 & | I 99 4 HFl 1 & | 59
3Y-Y¥l § 8 Tk IY-Y97 H TR faeheq o7 997 fear T & |

(vii) CWUIBT — Y97 &I 31 G 33 GF 31H-IHUNT YFR & Y9 8 | I4F 99 5 STl FT12 |

(viii) T¥-99 9 Gy fasheyq 781 foar 737 8 | JeIfy, @ve @, ¥ a91 & § iaike fasey &1
g fear 79 8 | geef 1 57 3991 9 @ fohd! Uek 99 o7 S fora 1 8 1

(ix) €T3 1o gi¥afer wiienfefar & fora s7em ge7-97 8 |
(x) T8 FE STEYIF &I, 9% R SR 3fed &9 & T 197 F1 S =11eq |

Eug <h
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1. @8 faeheq MY ST STampE (SFTEn) 7§ SR % ®9 H HE H Tl TS,
TEISTEH 1 3T a2 |
(A)  28SrRNA
(B) 58SrRNA
(C)  26SrRNA
(D) 23SrRNA
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 33 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iti) Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C — questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

(vii) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5 marks.

(viit) There is no overall choice. However, an internal choice has been provided in
Sections B, D and E of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

(ix) Kindly note that there is a separate question paper for Visually Impaired
candidates.

(x) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark
each. Choose the best option. 16 x1=16

1. Choose the correct option that indicates the enzyme, ribozyme in bacteria
that acts as a catalyst.
(A) 28SrRNA
(B) 58SrRNA
(C) 26STrRNA
(D)  23SrRNA
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2. [ SRR AT TSl HEX (YT5EH HT3H) TT 8L T aTeft theft aret el 36T, et o dieft
BTl et ST UTeT o BT ST HehTUT ShaT T, AT Fy Wit § 16 Urelt § | S/ diey s

e foraet Bt 2
A 9 B) 3
< 4 D) 1

3. WM S GREISHT (TS % %o Aoyl e A U T | Tersiidt 1 wet e
MY |
(A) TS ST H T 20,000 — 30,000 ST T TE=T BT |
(B) W SITAT o aF forfera Taafeh & i o 13k i feffid e |
(C) WS SiTeTe T TAT ST STFhHT HT Tt TR |

(D)  AREISET ¥ 3cq 8 a1t Afcieh, etk (forfersk) qorm wmmisrs aweanstl ()
T G FHTE T |

4. T=fafes s (fowen) o fora aeor (o) @t i e @ s (g grr
T AT R 2

XY xx©
(AT %) CIEEXZI)

! ! l l

xxC XX XY xXCy
(AT ) (T o) (|11 99) AT forehie
(-SRIt i)
frefafad 7 @ @t faeea g

(A) AT SHIHET ST SAeqor
(B)  X-HgAH TS &0

(C)  X-UET™ AWl &0

(D) 3fedT shrarETg et Feur

57/6/2 # 4| Page

E



“®collegebatch con

2. When a pure tall pea plant (Pisum sativum) with green pod is crossed
with dwarf pea plant with yellow pod, how many dwarf pea plants, out of
16, will be produced in Fy generation ?
A 9 B) 3
) 4 D) 1
3. Some of the important goals of HGP are given below. Choose the correct
goal of HGP.
(A) Identify approximately 20,000 — 30,000 genes in human DNA.
(B) Determine the sequence of two billion chemical base pairs of
human DNA.
(C) Trace human history and disease associated sequences.
(D)  Address the ethical, legal and social issues that may arise from the
project.
4, Inheritance of which of the following traits is shown in the cross given
below ?
XY xx©
(Normal man) (Carrier woman)
XXC XX XY XCY
(Carrier (Normal (Normal  Genetic disorders
daughter) daughter) son) (Diseased son)
Choose the correct option from the following :
(A)  Autosomal recessive trait
(B) X-linked dominant trait
(C)  X-linked recessive trait
(D)  Autosomal dominant trait
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5. RIS o o HeW H 5 e e fRg M |

(1) U SIST IEHRA, Th T (S16e) U qom U seariye iy gey o
e Uit T § |

(i) o o emreh T T |1 IBhra (BT TeAtsaT 1 fmfor Sar 2 |
(ili) S TTe o /T R & e (Qfsehe) oM i § §eHeh © |
(iv) Tarem =1 sifaw aftfa v swese (W) FEamar e |

(v) I (RfEeT) wrsHT e, hicwem qut %o fafite wfever (et @ wHg
TR |

fag e foreredt @ @ 3@ forshey bt T raes @it e e €
(A) (@), (D) (iv)

B) (D), (iii) 3R (v)
(C) (i), (iv) 3R (v)
D) (i), (ii) 3R (Gv)

6. 3T 60 AT archt v wipfier wufte & v S ok &t tefla B aur b € oiw
TEf-dent e # Ueftel B 3 S ST 0-7 7, @ Bb 3t SiHIersd SAaf i -

A) 021 (B) 042

(C) 048 (D) 056

7. U SIUAU A AqTSHIT T I 20% €, O SHH W T Tfdwrd w8 2

(A 20% (B)  40%
C) 30% (D)  60%
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5. Given below are few statements with reference to the human male

reproductive system.

) Paired seminal vesicles, prostate gland and bulbourethral gland

constitute the male accessory glands.

(i1)  Secretions of the male accessory glands constitute the seminal

plasma.

(i1i)  Secretions of the bulbourethral glands help in the lubrication of the

penis.
(iv) Enlarged end of the the penis is known as foreskin.
(v)  Seminal plasma is rich in fructose, calcium and certain enzymes.

Choose the option with all true statements from the given options :
(A) (1), (i) and (iv)
(B) (i), (ii1) and (v)
(C) (i), (iv) and (v)

(D) (1), (iil) and (iv)

6. If a natural population of 60 individuals is in Hardy-Weinberg
equilibrium for a gene with two alleles B and b, with the gene frequency

of allele B of 0-7, the genotype frequency of Bb will be :
(A) 021 (B) 042

(C) 048 (D) 056

7. In a DNA, the percentage of thymine is 20. What is the percentage of

guanine in it ?

A 20% (B) 40%
(C)  30% (D)  60%
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8.  fow g faeredt # & qoft uredt & YT o fTT el (Hew) A et forshedl i =
it |
(1) IS WY o &9 H G HAT @ S Hh UL ZEATHhN, TMATHIL T qiaerar
qOT H forefid BT & |
(i) Yo St M ST S % U &1 AR IS TS ek YT ST
g1
(iii) YOI % SSTUSERT R o oo 7 forepre BT & |
(iv) o STt oISt oor & U yoftsr o7& qo U Wi (RTeh) STied aid
gl
frfafiga # & @&t foepea g :
(A) ()3 (i) (B) (i) 3 (i)
(C) (i) 3R (iv) D) @) AR ({iv)
9. T SRITSTHRIH arery fomuett o e o 1 aew 8, a8 8 :
(A)  TEHEEE
(B) ey (Fegrames)
(C)  TEAETRRH
(D) AT EgERRE
10. S faehme o foemia sfaeme o gavem foepfad 81 arel Wrhifse (Seere=r) o
(A)  STfRIIeRad (B) &amHeX
(C)  Hietreny (D) QT
11. 3 FIcE FAI=T Gatesh pBR322 T rop TSl T SUTLI FAlHT TIA §
(A) Pvull (B) Pstl
(C) EcoRI (D) BamHI
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8. Select the statements that are true for embryo of the flowering plants
from the given options.
1) The zygote forms a proembryo and subsequently heart-shaped,
globular and mature embryo.
(i1)  Most zygotes divide to form embryo only after a certain amount of
endosperm is formed.
(i1i) The embryo develops at the micropylar end of the embryo sac.
(iv) A typical dicotyledonous embryo consists of an embryonal axis and
a scutellum.
Choose the correct option from the following :
(A) (D) and (i1) (B) (i) and (iii)
(C)  (iii) and (iv) (D) () and (iv)
9. Human Immunodeficiency Virus is a member of the group of viruses
known as :

(A) Adenovirus
(B) Retrovirus
(C) Rhinovirus

(D)  Nucleopolyhedrovirus

10. The animals that evolved into the first amphibians during evolutionary

history were :
(A)  Archaeopteryx (B) Salamander
(C)  Coelacanth (D)  Lobefins

11. The cloning site present in the rop site of E. coli cloning vector pBR322
is:

(A) Pvull (B) Pstl
(C)  EcoRI (D) BamH]I
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12. S TETE W ey ®9 @ R g ol Sty STeatien qe § S

I LA & ? HET forehed T |
(A) CHs, COy, H, (B) H,, NHj, CH,
(C) H,0, Cly, HyS (D) Oy, CHj, H,

Y% GEAT 13 6 16 3 174, 31 e 13T 710 § — o7 Tap 1 3119h9 (A) @91 & %1 R0 (R)
I SHferd 1631 7191 8 | 59 991 & |8l IR A1 1a¢ T #IST (A), (B), (C) 3R (D) H & T
dfsTT |

(A) 3R (A) 3T HROT (R) ST Hal & 3T 0T (R), ARTHAT (A) T Te&h
T HET R |

(B)  3ATHAT (A) R FRU (R) IHT H&l &, T HRT (R), ANTHAT (A) T Gt

SITST F&1 T g |

(C)  AMTHUA (A) H&T 8, W R0 (R) Teq € |

(D) SR (A) TTed 8, W 1T (R) WET © |

13. @I (A): WA H 3TH: IS HT I BISANCRH T AT (AT 70 2 |
FRT (R) : SIS HiH TTT: 7Y UTq hl TTERT aTfeehrati § T&adT 2 |

14.  37HIT(A): TUFHA THA HIRTHRIST HI JRAT Hich HIiaeh G MiHa fopg S
Th 2 |
FRT (R) : FHTTRIh HhoT o ToTT s IRt § i aeror formm 8 & |

15. 3fmeT (A):  giaifear N o for-ggen SiAT aret fogent o T 56T TR &
S TS e 5T

FRU(R):  SrEifber H fafi= ot (shiae) o R &t S geerear qun
QTS (fepvefiaeT) afefard o & |

16. I (A): CEHT T o1 Fo 1 Fo TS (smfaan) |, foar fo=e & &

st forfea B S 2 |

FRUT (R) : T TS 3 St S ST ISR hl ST shad @ |
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12. Bacteria growing anaerobically on cellulosic material produce large

amounts of which gases ? Select the correct option.
(A) CHg, CO9, Hy (B) Hy, NH3, CHy
(C) Hy0, Cly, HyS (D) 0O, CHg, Hy

For Questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct answer to
these questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : In humans, filariasis is characteried by inflammation in
the lower limbs.

Reason (R): Filarial worm usually lives in the lymphatic vessels of the

lower limbs.

14. Assertion (A) : Isolated single cells can be fused to produce somatic
hybrids.

Reason (R): Cells selected for somatic hybridisation have desirable

characters.

15. Assertion (A) : In dihybrid crosses involving sex-linked genes in
Drosophila generation of non-parental gene combinations

are observed.

Reason (R): Two genes present on different chromosomes show linkage

and recombination in Drosophila.

16. Assertion (A) : In some species of asteraceae and grasses, seeds are
formed without fertilization.
Reason (R): Formation of fruit without fertilization is called
parthenocarpy.
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SECTION B

17. Study the given molecular structure of double-stranded polynucleotide
chain of DNA and answer the questions that follow.

H

(a) How many phosphodiester bonds are present in the given

double-stranded polynucleotide chain ?

(b) How many base pairs are there in each helical turn of double helix

structure of DNA ? Also write the distance between a base pair in a
helix.

(c) In addition to H-bonds, what confers additional stability to the
helical structure of DNA ? 2

18. (a) Why are restrictions imposed on MTP in India ? Up to how many
weeks or trimesters, is MTP considered relatively safe for a

female, if necessary to perform, by a medical practitioner ? 2

OR

(b) Expand PID. Name any two common viral infections transmitted

through sexual contact in human females. 2
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19. (F) HIpT qoT O fafime S ff W i & st uredfes d@ey

TEIhTH T Ueh HA2ISS ISTETT hdl & ? SIREHT hiToT | 2
7T

(@)  Fque % AU T Heaqut SRl 1 Sifeet st A % e umy § e
Al aftEreTel o wal A | sFaiterd S qur =ite) =reor A s o
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G > G

20.  TFANTS SIUAT SRNfEhT (qehrieh) TohH shi qeT AISHT o 3AT-am =l i e yarg
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19. (a) How is the interaction between Ophrys and its specific bee
pollinator one of the best examples of co-evolution ? Explain. 2

OR
(b)  Arrange the given important steps of decomposition in their correct

order of occurrence in the breakdown of complex organic matter

and explain the fourth step in the process. 2

Catabolism

Fragmentation) ( Mineralisation

é

20. The basic scheme of the essential steps involved in the process of
recombinant DNA technology is summarised below in the form of a flow
diagram. Study the given flow diagram and answer the questions that

follow.
Step 1 Vector DNA (Plasmid) + Alien DNA

(cut using Restriction Enzyme) | (cut using Restriction Enzyme)
Step 2 Recombinant DNA molecule

Step 3  Transfer of recombinant DNA molecule in E. coli (Host)

v
Step4  Replication of the recombinant DNA molecule in E. coli to form

multiple copies of the alien gene

(a) What is the technical term used for Step 4 in the above process ?
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(@)  fw T @ R T 3 deeT § & Rege ST S s (s 1) 3

foRaT STHT =ITTRT 2 319+ ST w1 i fag hifse |
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(i) geEaw & gk fedi § @rfod g ol foRw ueaH @ ST S
29 2

YT
(@) el U Ak (et sreelt 3 g § gufterd fafiree gefer wfds % wfa
sifeeT o <Y U g et W=y AT iR uftetd Bt R |
() Iode A o ToTe ST foparm ST STt v R | 2
(i) 39 TAT o FoTe STcreedT o ST 3w Hed oL o NTRetT T A1 faRa |

(i) 38 YoRR ol STCLalT STfsRAT o Tl HTES iRl gy i< 8 et
21 TG - W HA-H 6 2 2

Qug T

22. (%) U dlEd A SUDR T (THAHY) T TishRIa 3Tk T SATehT T AT (37e)
g2
(@) AT & AR AN I oI TR 3o T AT 3T TR (WA eIk
TS STEoIEe) W TAMIANT i AT 31d § $Heh! UTehfdeh ST |idi H yafed
T U Ugdt 39k SHI-fagmer Su=I Y =ameay i | 3
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(b)  Which of the given two combinations of restriction enzyme should

be used in Step 1 ? Justify your answer.
) EcoR I to cut the plasmid and Hind III to cut the alien DNA.

(i1)  EcoR I to cut both the plasmid and alien DNA. 2

21. (a) (1) Explain why the milk produced by the mother during the
initial days of lactation is considered to be very essential for

the newborn infant.

(i1) What is the term used for the milk produced during the

initial days of lactation ? 2
OR

(b) Many children in the metro cities are suffering from a very
common exaggerated response of the immune system to certain

weak antigens in air.
(1) What is the term used for the above mentioned disease ?

(i1) Name the main type of antibody produced by the immune

system in response to this disease.

(iii) Which two main inflammation-causing chemicals are

produced by the mast cells in such an immune response ? 2

SECTION C

22, (a) What do you mean by activated sludge in an STP ?

(b)  Explain the biological treatment of the major part of the sludge
transferred from the large aeration tank into the anaerobic sludge

digesters before its final release into the natural water bodies. 3
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23. I qo7 Jord IO WTGHT 3 SRORETOT SRl IR i = ek SIS ekl bl
fopfea o forem 2 | %o faRme qoft rewl grr aog % afe e g
FateIRaa aTferent & ST TRIT § | SHORT 1A ohish STINTTHT T9T o ITT 21U |

— N UTY B T uTed C
afdermmr TR TR TLTERUT
ey A Y afdem X L~ L~
uTey B T afdemr L X L
g1y C s fdesnr L L X
e
¥} UTeT T B TS h | |
X —EER § I3 ghg T Brdl/afdehs 9 W ST R sdredred
HLATE |

L — ST W R S |
(F) I AT § a1 TS Sfe IS Jfer o1 A e aiedeT faflaw |
(@) AT HiTC fof €1 1S Fferq o 31T UTQY HT AT BT BT | 3

Toraeft STt STcaTreh SITshTHeh BT & T TATHeR ST o [T BT o STt

& | forrei 1 SaTeRont i HeTEaT & 39 e o gfte A |

@) Stafafauar Se-wic & vgaE & fau e @ wafet (gah) #1 Seaw
HIfSTT | 3

25. Ut 7 fof ferior i foranfarter o weaf 7 frforRaa wei & s difse 3
() ferepier afert # Sfer fersmrgmenar st am fafay |
(@) Afe uferi i et Sofa § SIford TURET (TG % 18 SIS quT fom
ST T Teh SIST &, dF 1< €t 78 anfetert | (1), (id), (iii) q97 (iv) Tk T
I g AN | (Fefr Torget (i) % foTg HepdeR Z 7 W T ST

24. (%)

HITSTT 1)
Attt Tore Bt et wear | T TUREAT BT SRt
(T fgrfora ahifarent ) (weh ferfore shifrenT )
Tt | ) (ii)
AT OET | (i) (iv)
57/6/2 # 18| Page g“-'i_f



“®collegebatch con

23. Flowering plants with hermaphrodite flowers have developed many
reproductive strategies to ensure cross-pollination. Study the given
outbreeding devices adopted by certain flowering plants and answer the
questions that follow.

Poll
oaif:; Pollen grains | Pollen grains | Pollen grains
. & of Plant A of Plant B of Plant C
Stigma
Stigma of Plant A X L L
Stigma of Plant B L X -
Stigma of Plant C v L X
Note :
All plants belong to the same species.
x  — No pollen tube growth/inhibition of pollen germination on
stigma.
L~ —Pollen germination on stigma.
(a) Name and define the outbreeding device described in the above
table.
(b)  Explain what would have been the disadvantage to the plant in the
absence of the given strategy. 3
24, (a) Alien species are highly invasive and are a threat to indigenous
species. Substantiate this statement with the help of any two
examples.
(b)  State any two criteria for determining biodiversity hotspots. 3

25. Answer the following questions with respect to the sex determination
mechanism in birds : 3
(a) Name the type of heterogamety observed in most birds.

(b)  If the birds have 18 pairs of autosomal chromosomes and a pair of
sex chromosomes, fill in the blanks (i), (i1), (iii) and (iv) in the table
given below. (Use symbols Z and W for sex chromosomes.)
Total number of Type of sex
autosomes chromosomes
(in a diploid cell) (in a diploid cell)
Male bird (1) (i1)
Female bird | (iii) (iv)
57/6/2 # 19| Page E“E P.T.O.



“®collegebatch con

26.  SeTY o Hare ATEAH H HaIST T oM i T ol SeTeieh (W) i e o
A T T fore T 81T & 2 SATEAT ST | 3

27. (%) | HIGT T sht ST qur qex faftt o T fofaw qem ekt et st
ST HIfST |
@) Gt (g e # grer (fhshh) i safkufa qon e fafae | 3
28. S-SR TehAT & grT i fmferRaa Scarel sht ama o forw Amer i Su=ifirar
I ST FHINT 3
(&) ST AT T

@) o-1-UdRRET

Qs g

Y99 GEIT 29 TAT 30 FH-FTYINT I94 & | I I3 & 3 9597 & /g% T I7-J97 H
377N faeheq fear & |

29. fmfafag uf=e i ygax fi= fou 7w yvat & o difs | 4

T o AT shl UHITH &1 36 STH T S IR 8 | T o FIANT % (e B0
e qRfefaat S o, YREaR STeEr 99T o 9 UeS el T STTE, STETRI,
Y&, ZHT, HH{Yeh T qe, 31e o TWiell &9 8§ Fekor @ g & F3a &
TRV AT ST-FAN R o foeha st i 7 & Th1 ST &ehal © | -5 &
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26. Explain how the addition of lactose in the medium regulates the

switching on of the lac operon in bacteria. 3

27. (a) Name and explain the role of inner and middle walls of the human

female uterus.

(b) Write the location and function of fimbriae in human female. 3

28. Explain the beneficial role of the following, produced as a result of the

processes of biotechnology, to mankind : 3
(a) Cow named Rosie

(b)  o-l-antitrypsin

SECTION D

Questions No. 29 and 30 are case-based questions. Each question has
3 sub-questions with internal choice in one sub-question.

29. Read the following passage and answer the questions that follow. 4

Prevention is the frontline response to drug use. Effective interventions
address the underlying conditions contributing to drug use, such as a
lack of connection to family or community, instability, insecurity,
trauma, mental health issues, etc. When addressed, these factors can
effectively prevent the initiation of drug use and the progression to drug
use disorders. Study the few key figures of drug use given below and
answer the questions that follow.

People with drug use disorders, 2022 (in millions)

People who use drugs 2022 *
292 20% 3%
million people over 10 years (over 5 years
2018 — 2022)
1lin11 1in 18 & 13-9 million people
in treatment (among women who inject drugs
in treatment) & 1-6 million
1in7 living with HIV
among men 1-4 million living wit
( & llion 1 h
(P (@ in treatment) HIV & Hepatitis C
Table No. 1 Table No. 2
il
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(a) What do you infer from the figures in Table No. 1 about the people
with drug use disorders, 2022 (in million) ? State any two of your
observations. 1

(b) How are Hepatitis C and HIV related to drug use disorders by
people, as shown in Table No. 2 ? State the correlation between the
two. 2

(c) () Give the scientific name of (p) shown in Table No. 1. 1

OR
(c) (i) Give the scientific name of (q) shown in Table No. 1. 1
30. Read the following passage and answer the questions that follow. 4

According to evolutionary theory, every evolutionary change involves the

substitution of a new gene for the old one and the new allele arises from

the old one. Continuous accumulation of changes in the DNA coding for

proteins leads to evolutionary differences. The chemical composition of

DNA is basically the same in all living beings, except for differences in the

sequence of nitrogenous bases. Given below are percentage relative

similarities between human DNA and DNA of other vertebrates :
S.No. Vertebrates Percentage similarities
1. Chimpanzee 100
2. Gibbon 94
3. Rhesus Monkey 88
4. Lemur 47
5. Treeshrew 28
6. Mouse 21
7. Hedgehog 19
8. Chicken 10

(a) What is the term used for the substitution of a new gene for the old
one and the new allele arising from the old one during evolutionary
process ? 1
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(b)  Which one of the following holds true for the data provided in the
above table ? 1
(A)  Greater the evolutionary distance, greater are the differences
in the nitrogenous bases.
(B) Lesser the evolutionary distance, greater are the differences
in the nitrogenous bases.
(C)  Greater the evolutionary distance, lesser are the differences
in the nitrogenous bases.
(D) Lesser the evolutionary distance, lesser are the differences in
the nitrogenous bases.
(¢c) (1) To which category of evolution (divergent or convergent) does
the following relationship belong to ? Justify your answer.
Human and Rhesus Monkey 2
OR
(c) (i) Differentiate between Convergent and Divergent evolution. 2
SECTION E
31. (a) (1) Describe the Species-Area relationship as observed by
Alexander von Humboldt, for a wide variety of taxa in nature.
(i1) Draw the graph showing Species-Area relationship for
S = CAZ. What is the significance of ‘Z° in Species-Area
relationship ? 5
OR
b)) @ Describe the logistic population growth curve with the help of
a suitable graphical representation.
(i1)  Write the equation of Verhulst-Pearl logistic growth curve
and explain what ‘K’ and ‘r’ suggest in the given equation. 5
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32. (a) (1) Describe the approach of gene therapy used for the
treatment of a 4-year-old girl suffering from Adenosine

Deaminase Deficiency.

(ii))  What is meant by microprogation ? Name any two important
food plants grown commercially (on a large scale) by this
method. 5

OR

(b)  Describe the technique of a typical agarose gel electrophoresis used

for the separation and isolation of DNA fragments. 5

33. (a) (1 Explain the structure of a mature embryo sac of a typical

flowering plant.

(i1)  How is triple fusion achieved in these plants ? 5

OR

(b)  Describe the changes in the ovary and the uterus as induced by the
changes in the level of pituitary and ovarian hormones during

menstrual cycle in a human female. 5
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